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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the question paper.

Please check the question paper to verify that the total pages and total number of questions
contained in the question paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your question paper code No. 42/OS/1—A on the answer-book.

(a) The question paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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ECONOMICS

(S7efaTreA)
(214)
Time : 3 Hours] [Maximum Marks : 100
T 3 Eve] [quif® : 100
Note : (1) All questions are compulsory.
(2) Marks allotted to each question are indicated against it.
(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B),
(C) and (D) and out of which one is the most appropriate. Select
the correct answer and write it in your answer-book against the
number of question.
o : () W ueT ot ¥
(2) UI® U F 3% Iqk A 9 ™ T |
(3) TGFTs U wHI® 1 ¥ 8 %, U UT H IR Idiewd Ia¥ (A), (B),
(C) ik D) ¥ ™ ¥ M9 ¥ % @& a1 gaiias Sfad & | |8l Sa%
g ol IA-gRAe W IE YT HAi% % 9me (A |
1 Which one of the following statements is correct ? 1

(A) Future wants are more important than present wants.

(B) Human wants are unlimited.

(C) Each particular want is not satiable.

(D) We have unlimited resources to satisfy our wants.

frfofaq & 9 &9-91 &9 93 ¥ 7

(A) T & SAETHATT IAAM SEeAkarst ¥ fyed "ol Bl ¥
(B) AMEE ETRdl St ¥ |

(C) Trer o fagw smasawar & gia &0 & |®al |

(D) TR UM SUAl SAELFRare @ U & @ s wed ¥
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2 Who produces goods like cement, fertilizers and automobiles ? 1

(A) Large Scale industries (B) Small Scale industries
(C) Ancillary industries (D) Cottage industries
iz, SeX® g1 aEd a&gsll @ B SdEd W & 7
(A) = M F s (B) g SET
(C) wE™E® SEM (D) FAX I
3 Which one of the following is a non-economic factor affecting distribution of 1

goods and services ?

(A) Purchasing power (B) Existence of market
(C) Government intervention (D) Political stability
frafafag & @ - g R Fatel & YHIGG Sl IR-oTHE R § 7
(A) wF ST (B) ¥R @1 oA
(C) W@ s&eu (D) eiaw feaa
4 Those who buy goods and services for satisfying their wants are categorized as : 1
(A) Firms (B) Producers
(C) Households (D) Farmers

SR SEsTGArel Wl g T % Y a%] o qatel @ wA HW 8, 9%
HEd T

(A) & (B) Sk

(€) wRar (D) F9%

5 An economic problem arises, because : 1
(A) Human wants are unlimited (B) Resources are scarce

(C) Resources have alternative uses (D) All of the above

w3 oTfdE TR IO EA T, i
(A) AFEE AEFRdY Mt ¥
(B) dElEM gWW wd ¥

(C) €OEMi & Jepfeuss WA &I &
(D) IR W
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6 Which one of the following producing units come under primary sector ? 1

(A) Construction (B) Manufacturing
(C) Trade (D) Cultivation
T § FE-E SaEd gwE Wl 5w % orrid e ¥ 7
(A) T (B) fafmfor
(C) =mmr (D) TEE
7 Which one of the following is not a source of pollution ? 1

(A) Chemical gases in air

(B) Smoke emitted by the automobile vehicles

(C) Use of cycle as a means of transport

(D) Sinking ship carrying mineral oil

frfaiad & o &9 YU &1 " el g 7
(A) '@ H TEEE T

(B) #ex mieat & Fepem amen galt

(C) I & Y9 & ®Y H WEed &1 WA
(D) S o9 ¥ @< o™ @ 8 S

8 Which one of the following statements is true ? 1
(A) All resources are exhaustible
(B) Inexhaustible resources are also known as renewable resources
(C) A forest is an exhaustible resource
(D) Exhaustible resources are unlimited in supply
frfafed & ¥ - sa7 w9 B 7
(A) W g aaee ¥
(B) ote@sTd €atedl ® oy dqieet % ' § ff 91 o ¥
(C) v U easiia dames
(D) easie domed omgid H ot ¥
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Distinguish between natural wants and artificial wants. 2

Ui AEsIHhast adgl M sEagaharet ¥ 97 @iy |

Define investment. 2

g = ufvam fafag |

Suggest any two ways to increase production. 2

SR ¥ ghe T b BE & U™ gHEd |

Why do we buy goods and services ? State any two objectives. 2

T g% o ol & %A F b ¢ ¢ Rl T Ige Iamw |

State any two factors that influence the decision of a seller in fixing the price of 2

a commodity.

Y fFel & BR&l B Sww Hi o TR agg @ wma & Fraie § fahar & Frow
®H GO Hd & |

State the law of demand. 2

A % FEE @ SwE @i |

Saving is inevitable for capital formation, growth and development of the nation. 2

Justify the statement.

o1 ¥ gon Fmien, enffe d@gfe qun faem & @ s9d@ @1 891 smEsa® § | 9@ &ud
& oiifae g @i |

Name any four types of insurance policies. 2

el T weR W Sew 9 wiwtam w A e

State any two factors which are responsible for exploitation of the consumer. 2

g Tl &1 ®Rpl &1 Sti@ DI W SUHRT & N9 & 0 SAEr™l & |
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25

Why does in any two ways the agriculture sector occupy a major place in the 2

Indian economy ?

frsl & "R ¥ TAET # WRaE sfEEren ¥ PN e ye WE o’ s 7

How do our resources get affected by our growing wants ? — Explain. 4

T STE9Tdare & Tghg ¥ AR GHIEF &y y9Iad o d € 7 — 99mEy |

What is meant by increase in productivity ? How are science and technology 4

useful in increasing productivity ? Explain briefly.
ST ghg & o= a0 & 7 Iored ghe & T e ok Wil e weery Suiett
€ 7 daw H §uesy |

Suggest any four ways to check inflation. 4

TE-Tia & FEE #E & R w8 9 Sum gy |

Suppose you have produced a commodity. State any four ways to attract buyers 4

to buy your product.

AAIART, oo fordl a¥g &1 SMET a1 & | U ST Hl %hd BT & [ harstt
H AHNG HE & o el aR IUAl B Iew@ HiE |

Distinguish between a saving bank account and a current account of a bank. 4
Explain briefly.
¥% &% S99 WA qUT 9 @d § 4T D | 98y F g9mEy |

State any four characteristics of the Indian economy to justify that it is a 4

mixed economy.

AR erefemeren & @3 9) [a9udd saEy Weg a8 fg ar & 6 98
g erdfemaen ¥ )

Explain the central problem ‘what goods shall be produced and in what quantities’. 4

DUl TG B fBT AS H IARA B hEE AT Bl AT DI |
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32
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34

Suggest any four measures to contain brain drain. 4

TIAHT TS B AET kB3 IR SUE AR |

Why is there a need to control birth rate ? Explain briefly giving any two reasons.4

Y T FEFw @ emEsgwa w7 @i A BRY SaW 30 §EY § gEsEy |

State any four reasons for the rapid growth in world trade ? 4

fasg =R o 99 ghg & *HF IR HRO FAET |

Explain any two effects of degradation of forests. 4

Sl h Uaq % TRl &l WUl @l Sred s |

Our consumption should be restrained and limited only to our basic needs without 4

which we cannot survive. — Explain.

TR SUNNT T S SfEygshdiell o AR 9 diyd s aied e fam w1 oS
T Ghd | - GuEEd |

How are private sector production units classified on the basis of number 6

of owners ? Explain briefly.
Wt & @' & ogR UX Sl &9 @ IART IHEAl @ hE WhR aiigd [hal
a7 "@Eaw ¥ gesEy |

Explain briefly any four positive effects of globalization on Indian economy. 6

TR AT T J9AHIT & el IR G THEl &l G890 § = dise |

Explain any three long term objectives of five year plans in India. 6

qRAG H Uogurg aeel & (el M QlEwlive Sevdl Bl e sy |

How do natural and economic factors affect the development of a country ? 6
— Explain.
Tipas Tl Md®s wRe fhdl <91 & fge@ & &g g9ifaq &g & 7 99y |
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